/////mw www.chinapneumatic.com
PNEUIEC (€ 1S09001:2000

MALZEF$E S S E(REL
MAL Series Aluminum alloy Mini Cylinder

MAL-20x50-S MAL-32x75 MALD-25x75

1TW9%5 Ordering Code
MAL - V) - 20x50-25 - S - LB - MT
fa=%3t Back Cover Type o ;Jgg G
RIS Series Code l alETE L
e " , ) p
l =H: ?%E?‘T ¥143 Bore Adjust Storke BIEES Fixed Type  CS1-U  meMEFFE . 3‘.(1’9’7
CM: ERE l l prewen y
MAL: Ezh& U: SRR l cs1-U
MSAL: %iﬁﬂ:ﬂg—i Blank: Standard With 16~40mm 0~100mm = AR magnetism switch
MALD: XS zhE Eye Mounting LB: BiGEER Sensor bend
MALC: SEzhaha CM: Round Rear Cover MES Magnet Code  FA FBEIRR(ATIA)
MALJ: SUETEE U: Flat Rear Cover SDB: [EEZRE($IEF)
MAL: Double Action Type l Blank: Normal type
MSAL: Single Extrusion Type = R LB: Front & back fixed type
MALD: Double-shaft Double Action Type _ S: NERIR FA: Front cover fixed type
MAC: With Buffer Type A2 Stroke 5 L Without Magnet  (Frontflange type)
MAJ: Double-shaft & Adjustable Stroke Type S: With Magnet SDB: Back cover fixed type

H#& Specification

: st 32 ,
#hiEEI/Motion Pattern ErpRsy&sn=, Double Action or Single Action
T{ENE/Working Medium =5 Air
EleR=/Fixed Type HAR/Normal Type LBE/Type FAZY/Type SDBE/Type
{&EFE /5B El/Operating Pressure Range 0.1~0.9MPa
{RIIEf EH/Ensured Pressure Resistance 1.35MPa
{&EFR 5B El/Operating Temperature Range -5~70°C
{#FRIEESBE/Operating Speed Range 30~800mm/s
R trfERY/Standard Type B3 A Anti-crash Buffer
Buffer Type #&)h%/Damping Type - a4 % Adjustable Buffer
BEOR/Port Size M5x 0.8 G1/8" | e
Pt eyt o i
NO. Designation NO. Designation
1 TRIEFTIRES Piston Rod Nut | 9 Bhfiiiz - Anti-crash Buffer
2 SEZEHF Piston Rod 10 | ;EZEHFOBLME Piston Rod O-ring
L T / 2 gl ’Li‘g L 3 Front gg§§§g| Ring 11 | iSO Pistion O-ring
=/ 4 A% Bearing 12 &R Pistion
"""""""""""""""""""""" 5 | B4R Front Cover Nut | 13 fitEEER Wear Ring
T m 6 A& Front Cover 14 E P FEIE Seal Buffer
7 ‘ gzo&m. 15 A7 AR
Pipe Wall O-ring Hex Socket Screw
8 8% Aliminum Tube 16 f&#& Back Over




Wlmw www.chinapneumatic.com www.chinapneumatic.com ll///mw
PRNEUIEC C€ 1S09001:2000 C€ 1S09001:2000 PNEUIEC

17%Z Stroke 2R~} Overall Dimension

B TR |BATE BT
Bore(mm) Standard Stroke Max.Stroke Permissible Stroke
16 25 50 75 80 100 125 160 175 200 300 500 MSAL MSAL-CM
20 25 50 75 80 100 125 160 175 200 250 300 500 650
25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650 .
e isrone Ao oo
LTy s Ty

%ﬂ praeey ,_ﬁ_%l./m

- S
4MIZR < Overall Dimension i i

At fiB(Stoke)

C + 17 M(Stroke) D AY
$P (H8) ]
/
MAL fé = MSAL-U
B 2 1 }% Z& Dimension Sheet
—
= A A1 A2 G
e 51 51 51~ | B 51
ety = = = =
Bore o-s0| 31 | 0~50 [ 51 | 0-50 | 3 0~50 | 505
G D1
Ly [ 20 131 | 156 | 122 [ 147 [ 110 [ 135 | 40 | 70 | 95
MAL-CM T 25 135 | 160 | 160 | 153 | 114 | 139 | 44 | 70 | o5
— 2 32 141 | 166 | 166 | 153 | 114 | 139 | 44 | 70 | 95
40 165 | 190 | 190 | 177 | 138 | 163 | 46 | 92 | 117
4
p— e Mo o L= L (e ] K 12 M[P|Q|R|RT[S|U |[V|W]| X |AR|AX|AY
C+ {7H(Stroke)
T 20 |21]12]28]12]16|20[12| 6 | M8x1.25 [mM2x15[10] 8 [16|19]10[12] 20 [ 8| 6 [Gus'| 7 [33]20
25 |21]14[30[14[16|22] 17| 6 [M10x1.25| M22x15[ 12| 8 [16]|19]12]12] 34 [10] 8 [Gus'| 7 [ 3320
MAL-U = 32 |27|14]30|14]16|22[17| 6 [M10x1.25| M24x2.0 |12 | 10|16 | 25| 12| 15 [39.5| 12| 10 |G18"| 8 |37 | 32
40 |27| 14|32 1422|2417 7 [M12x1.25| M30x2.0 [ 12| 12| 20| 25 [ 12 | 15 [49.5| 16 | 14 [ G114 o [ 47 [ 41
4MFZR~F Overall Dimension
R~F% Dimension Sheet
MALD MALJ
W42 Bore A e s & D | DI | E F G H | J K
16 114 | 114 | 98 | 38 | 60 | 16 | 16 | 22 | 16 | 10 | 16 | 10 5 M6 x 1 . i 5 sk PRI
20 131 | 122 | 110 | 40 | 70 | 21 12028 12 16 | 20 12 6 M8x1.25 = L O Fn &
25 135 | 128 | 114 | 44 | 70 | 21 14 | 30 | 14 | 6 | 22 | 17 6 M10x1.25 - - T ﬁ%
32 | D00 00 By I [ L0 2 0| 2 i 2 | 6 M10x1.25 — = £ = 1= @ 3
40 165 | 152 | 138 | 45 | 92 | 27 | 14 | 32 | 14 | 22 | 24 | 17 7 M12x1.25 WG R
P72 Bore ks M P Q R | Rl | S u VS B o AR R A
16 M16x1.5 14 6 12 | 14 | 14 9 21 6 5 | M5 | 6 2% | 2
20 M22x 15 10 8 TG |0 | 0| o 20 8 6 |Gie | 7 2| g’fe A|lA|B|C|E|F|G|H]|I1]|J K ik M| U|V|W| X |AR|AX|AY| T
2 M22115 = C 1T o T e 0 O T 0 PO S G ( 32 20 [150(|147[ 40|70 |28 |12 16|20 [ 12| 6 | M8x1.25 [ M2x15|10| 29 | 8 | 6 |Gus'| 7 |33 |20 | 19
32 M24x2.0 e s e [ T e S e 2| R -
- N20010 T R T e ) e = i e i e T R T 25 |158[155[ 44 [ 70 [30 [ 14 [16 [ 2217 [ 6 [m10x1.25 | M22x15 [ 12| 34 [10] 8 [Gus'| 7 [33 [ 29 | 21
32 |158(155] 44 [ 70 [30 [ 14 [16 [ 22 [ 17 [ 6 [M10x1.25 | M2ax15 | 12 [395| 12 | 10 [Gue'| 8 |37 | 32 | 21
40 |184]180[ 46 [ 92 [32 [ 14 2224 [ 17| 7 [M12x1.25 | M30x20 | 12 [ 205 16 | 14 [G1ar| o [ 47 | 41 | 21




